Kerry Ojakian’s MTH 28 Class
Class Assignment #16

1. Perform the operation and simplify:

5
2. Perform the operation and simplify: ——

V3y
10ab
3. Simplify
v 8ab

4. Perform the indicated operations and simplify.

(a) 5v/8 + 3v12 + /50 (b) 104/16 — 3/54
5. Simplify.
(a) 5v/2 — 32 (b) 6v/6+ 7v/6




6. Simplify.

(a) —12/18 4 7V/18 (b) 4v/5 - 6v5
7. Simplify.

(a) 3v2x 4 5v2x (b) —5v/522 + 7v/5x2
8. Simplify.

(a) —43/Tzy? + 5/ Txy? (b) 4v1022 — 6v/10z
9. Simplify.

(a) V27T + V75 (b) V24 — V81




10. Simplify.

(a) V72 + /98 (b) 4v/45 — /80

11. Simplify.

(a) V722% — /5027 (b) V6425 — 37/12526

12. Simplify.

(a) V48x® + V752> (b) 4+/243y% + 2+/3y°

13. Perform the operation and simplify: (v/2)? + (v/6)?

24/10
14. Simplif
PTG

15. Perform the operation and simplify: (v/2 + v/6)?




16. Perform the indicated operations and simplify:

(a) (V2+/3)°

6
(b) 24+/5
17. Simplify.
(a) V7(5+2V7) (b) ¥/6(4 + 2v/18)
18. Simplify.
(a) V2(V12+ v/24) (b) V2(—5+9v2
19. Simplify.
(a) (7T+3)(9—+3) (b) (74 V/6)(4 +2v/18)
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. Simplify.

(a) (V3 + VI0)(V3 + 2v/10)

(b) (2v/7 — 5VIT)(4V7 + 9VII)

. Simplify.

(a) (VIT+v5)(VI1+6V/5) (b) (V3+V5)?
. Simplify.

(a) (V2-7)° (b) (V6+v2)?
. Simplify.

(2) (V3+V5)(V3—5)

(b) (V2=VT)(V2+VT)




24. Simplify.

(a) (2+V5)(2 - V5) (b) (2V6+3v2)(2v6 - 3v2)

25. Simplify.

(a) (3v/3—2v2)(3V2 +2V2) (b) (2+3V7)(2-3V7)




